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N (2.721kg) % 75 - 46 |J\K BAIERID ¥ T KRR 1 1| 22
Tah#(2.721kg) Eos 35 65 |RHFE VHM Y24 EXD N& 1 1 | 23
% (2.721kg) HE| « 26 21 [JIIE BRET W3 Ut 7/ ® 1 1 24
FaH % (2.721kg) % 75 4 |KF EZEHE ¥/94% 7 N 2 1 | 25
L% (2.721kg) FS 13 36 |l TES Y F By —% 2 1 | 26
B (2.721kg) S 73 26 SEH #BF 14 194 AR 1 1 27
A% (2.721kg) %7 205 4 |deNl BHBIRE 00 Mt REE -+ 1 1 28
FastL#%(2.721kg) S 100 - 14 [FER & NFAZ Hh3 A% 1 1 29
A% (2.721kg) %z 85 62 | =FHEF 850 Y4 1R 1 1 30

i H 44 B A4 [EZAER B4 AR K| vV
3245 (1.000kg) Eoa 2340 - 1 | BEE 0 9t ARG 3 1 1
P84 (1.000kg) %z 1 20 |fRJR HEE{E 1515 (Vb Al 2 1 2
FI88#%(1.000kg) % 227 11 |#hE  FrE 155 F44 KEE— 2 1 3
3245 (1.000kg) % 22 9 |IUKX FEB YYEL F FERHIE T 3 1 4
FI#2#%(1.000kg) % 30 10 |&FEH B9 F vang )4 A 2 1 5
FI88#%(1.000kg) HE| % 2 15 |[SFF 2 {347 34 B 2 1 6
42 4% (1.000kg) H#HiE | & 26 6 IS Y] 7ht 7/ b 2 1 7
FJ#245% (1.000kg) g 24 12 | KfE  FEF] =y #vy RS 2 1 8
FI#24% (1.000kg) HE| % 63 21 | R /MBS Y N # 4 7 oh 2 1 9
3245 (1.000kg) % 85 12 (&2 H’/E 17 74 1R R 3 1 10
3245 (1.000kg) Eoa 97 20 3R EH #74° )b LIEES 2 1| 11
FI%4%(1.000kg) @ | % 26 4 R BE it 1Y 7/ s 2 1 | 12
FI824% (1.000kg) % 97 - 26 |E HERK 19 -9 EEES 2 1| 13
3242 (1.000kg) ES 1 33 | k@A E 918" LY 07| 1 1| 14
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i H 44 5 (B4 F—24 BRI A KAN FrE4 AR OK | vV
PUiE #E| % 213 - 20 £+ HMY a 7hY FE 2 11 2
B z 13 - 33 |8k #/5 4% 19t —% 2 1 3
POfERE HiE | & 200 - 11 (@A 1A 9F8° 1y ¥ AL 3 1 4
OB #E| « 88 1 (dedt = 445 v K= 2 1 5
PO 8| % 25 9 |gIE RTE YIS Avh |BE 2 1 6
UiERR TR HE| x 213 11 |[AA =3 hhst 3y A 3 1 7
PuiES £°8 30 19 |FE HIH L3hs TAh A 1 2 2
PUAE RS % 30 - 14 |=@ =% th K 2 2 3
PR S 215 - 35 [HE I tht 133 RIS 3 2 4
PUAE RS #E | & 28 - 11 (BT B EVS bt T 2 2 5
PUiESR R 8 36 3 |ITHA EE y) hE&HF 2 2 6
UEF e ST 58 235 1 |ZE BXE TH 0t #HEE 3 3 2
UF e ST = 1 27 | =Tt 3y Ith Il 2 3 3
OB % 1 2 |&AR =<5 & #h35 g 2 3 4
UF e 58 85 68 |MIF EFE Lh4 37 [2IEGEE 1 3 5
PR S 227 - 12 |#A7k  #DFD W 49 AEEZ 2 3 6
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DL —F—4&—BiK

BF ZF i@ &Y ozvs BF ZF i@ 1KY ozvz
FiE i FiE i
#H L —> AR 2 L —> aal=al i

FrlE YL —F—4— 6% i 28U L —F—&— 6 /U5
F—A— | F o BREL s| dpEE | @ F—A— | F o BRES, 2| wipEE | @

1 1

2 2

3 3

4 4
SHEAES SHEEEA
MIBERT 6 0991 CIBRERICRHT S &, MIBERT 6 0 9H £ Tl BRERIIRHT 52 &,

L —F—&—BiK L —F4—4&— B
B - LF @ - K ozvs B - LF HE - EY ozvs
FE - R FE - RE
#H L —> AR #H L — AR

R R U L — 4 —F— 6 2L R R U L —F — F— 6 2L
F—s— | Fon— BREL 2| wpER | @ F—A— | F o BrE 2| wpER | @

1 1

2 2

3 3

4 4
SHEEES SHEEES

XIBERT 6 091 £ TICHREERICRHT 2 2 &,

XIBERT 6 091 £ TICHREERICRHT 2 2 &,
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